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DEPT. NAT. RES & ENV

PE601204

WCR Yol 2 @@
LOG ANALYSIS
SCALE=1:200.00
DEPTHS IN METRES
_CORE PERMERBILITY_ __
L 0.N0 71020 40 80 200500 1000€
PERMEABILITY
| 0-NO 71020 4080 200500 10004
SHALE FRACTION
0 0.25 0.50 ] n.lzo n.lm 0.|sn 0.90 |
- CORE POROSITY_(NOBP)
0 0'.10 D.?O 0'.30 1_0.50 0 0.?5 0.50
_EFFECTIVE POROSITY _ _RESIDUAL SATURATION
D 0.0 0.20 0.30  0.50 1 0.80 0.50 0.40 0.20 O
TOTAL POROSITY DEPTH NATER SATURATION
0 0.10 D.20 0.30 0.50 375 |1 0.80 0.60 0.40 0.20 O
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XN PLOT FILE T4.PLI
sxxx D HENDERSON
XXX 27 JULY 1984

wxux  PERMEABILITY ALGORITHM :

AENX FOR PHIE > 0.24

MHNK

NHXX

MXNN

L8 .8 &1

HTEAN

AANY i = 10xx(45.469%PHJE - 9.067) max
X NKX FOR 0.18 < PHIE < 0.24
”RNR K = 10x=(18.1BxPHIE - 2.667) wxxnm

WX FOR PHIE <= 0.19

NMAN

KN K

ANNK K = 10xx{11.2B8%PHIE - 1.24) wxnx
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